XTMK

HANSAVFLEX

i oA
EARN RIS ER THE
] - 7
0O 1 K SNR L B T sw -t
EHER 1 BABmHR n
BO2+3 KRR BT : - 3
BHER2+3 24°% A /, Sy
Y EE] AR B ERE o | | :
EBER T T
R AE DIN 2353 T T i |

1SO 8434-1
BEEE BB (R R B S P EITF) -3
BB P
RERP BRI
'R
EERE, BA. EARENATN TERENNHELSNERREENERES,
# &

GEMRI  THEES B

XTM 04 LL LL PN 100 4 M8x1K 8 11,0 17 15 9
XTM 05 LL LL PN 100 5 M8x1K 8 9,5 17 15 9
XTM 06 LL LL PN 100 6 M10x1K 8 9,5 17 15
XTM 08 LL LL PN 100 8 M10x1K 8 11,5 20 17 12
XTM NW 04 HL L PN 315 6 M10x1K 8 12,0 20 19 12
XTM NW 06 HL L PN 315 8 M12x1.5K 12 14,0 26 21 12
XTM NW 08 HL L PN 315 10 M14x1.5K 12 15,0 27 22 14
XTM NW 10 HL L PN 315 12 M16x 1.5 K 12 17,0 28 24 17
XTM NW 13 HL L PN 315 15 M18x1.5K 12 21,0 32 28 19
XTM NW 16 HL L PN 315 18 M22x1.5K 14 23,5 34 31 24
XTM NW 03 HS S PN 400 6 M12x1.5K 12 16,0 26 23 12
XTM NW 04 HS S PN 400 8 M14x1.5K 12 17,0 26 24 14
XTM NW 06 HS S PN 400 10 M16x 1.5 K 12 17,5 27 25 17
XTM NW 08 HS S PN 400 12 M18x1.5K 12 21,5 28 29 19
XTM NW 10 HS S PN 400 14 M20x1.5K 14 22,0 32 30 19
XTM NW 13 HS S PN 400 16 M22x1.5K 14 24,5 32 33 24
ZEHMRILL=3F(FR =R S=E - PN=HIEEH PB=BAIEEH - 0=BHER
Rk
XTMK VA FEARIRIIERE T, T6W

TMK FEARIRRERE TH, W

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
15.07.2025 HANSA-FLEX AG

www.hansa-flex.com 1



